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Name

Years 3 & 4 spellings A

10

1"

12

15

17

18

20

Across

. come to a place

. what you do in school
. past tense of hear

. this pumps blood round your

body

. the middle
14.
15.
17.
18.
19.
20.

60 seconds or very small
past tense of catch
opposite of late

have plenty to do

real

make your mind up
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Down

. happens a lot
. this 2D shape has one curved

side

the air which goes in and out of
your mouth

land surrounded by water
today was dry usually it
rains

carry on

several of the same sort
together

4 +4
13.
16.

100 years or runs
construct
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learn group heard arrive

actual

build eight caught

often

circle

heart breath busy

century

centre

minute

continue decide island

early
although
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Across Down
. come to a place 1. happens a lot
. what you do in school 2. this 2D shape has one curved
. past tense of hear side
. this pumps blood round your 3. the air which goes in and out of
body your mouth
. the middle 4. land surrounded by water
. 60 seconds or very small 8. today was dry usually it
. past tense of catch rains
. opposite of late 10. carry on
. have plenty to do 11. several of the same sort
. real together
. make your mind up 12.4 +4
13. 100 years or runs

. construct
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learn group heard arrive

actual

caught

often build eight

circle

heart breath busy

century

centre

minute

continue decide island

early
although



